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20 M OHAE | 92.00 87 90| 90| 91 | 94| 94| 95| 95 20 TR A 75.75 | |72.0 |72.4 [74.6 |76.0 |76.0 |77.0 |78.0 {80.0
21 R 93.75 87 | 92| 94| 94| 95| 95| 96 | 97 21 =¥ HE | 7583 | |70.0 [73.0 [76.0 |76.0 [76.6 |77.0 |78.0 [80.0
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23 Bl Bk |94.13 80|90 | 93| 95| 95| 95| 98 | 98 23 =FEF E— |76.10 | |66.0(70.0 (73.0 [73.0|79.0 |82.0 |82.0 (83.8
24 R k¥ | 9413 89| 91| 92| 94| 95| 96| 98 | 98 24 Eg [E 76.10 | [72.0|72.0 [72.6 |75.0 |75.2 |78.0 |80.0 (84.0
25 MLt FEE | 9450 86 | 89 | 91 | 92 | 96 | 100 | 101 | 101 25 e AR | 76.25 | |69.0 [74.0 {76.0 |77.0 [77.0 |78.6 [79.0 [79.4
26 AIE = 94.50 88| 89 | 91| 93 | 97 | 97 | 100 | 101 26 ILF EE |76.25 | [71.0(71.0|71.0 [73.0|79.0 |81.0 [82.0 |82.0
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1 |88 = 6 | 50000
1 /N HE 7 | 50000
3 |BkE B 7 | 48000
4 |FEE EX 8 | 43000
4 | K}t 8 | 43000
6 |BL E— 4 | 42000
7 |EH H*H 5 | 41000
7 [#EWl T8 7 | 41000
9 ML FHE 5 | 36000
9 |WRE # 6 | 36000
11 |K& R 5 | 35000
1 iEE 5E 7 | 35000
11 (FA fot 7 | 35000
11 |=iF B 6 | 35000
15 [iEfE & 5 | 33000
15 |§H# —E 4 | 33000
17 BRI e 5 | 31000
17 | B= 5 31000
19 |&: HE 5 | 30000
20 |[fER”RK &KX | 5 |28000
20 |&F HR— 5 | 28000
20 |f8I] BAX 5 | 28000
20 |(HIA = 4 | 28000
24 |HhH EER 4 | 26000
24 |FEH 1B 3 | 26000
24 [BA A= 3 | 26000
24 |h#t X5 4 | 26000
24 | =7 3 | 26000
29 (X E=H 4 | 25000
29 | HE 5 | 25000
29 |RE B 4 | 25000
29 (U EE 5 | 25000
29 |#H EE 5 | 25000
29 |fEH BR 4 | 25000
3B |fFE =4 2 | 24000
36 [KEF B 4 | 23000
36 |FFH 2x3A 4 | 23000
36 |H4T BRER 3 | 23000
36 |8 ML 3 | 23000
36 |fEHE & 4 | 23000




